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The figures in the margin indicate
full marks for the questions.

1. Find out the correct answer from the
; following : ' 1x7=7

(i) Whatwas the mode of respiration for the
prokaryotes during biological evolution ?

(a) Aerobic
(b) Cellular
(c) Anaerobic

(d) External
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(iii)

(iv)

volution can be deﬁned
(@) History of race V.
b
(b) Development of race

(c) His
to
e devels

{d
) Progressive history of
race

Which of
the following principl
€s is not

part of Darwi
) rW]_n’S
natural selection t'pheory of evolution by

aty
- B on occurs amo A .
Population ng individuals

(b) Mu
tatio ;
S ns are the ultj
etic variation mate source

f 1 i

ch
ance of reproducin
g

(d) More:;
Sul‘:fei;g dividuals are bo
- rn than will

The f:

o ;Slt;)ééga;; leads to founder effect ;
{a) Mutation g
{b) Natura] selection

(c) Genetic drift

(d) Genetic recombination |
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ich is the earliest known ancestor of

() Wh
man ?

(@) Dryopithecus

(0] erectus

(b) Hom
) Homo habilis

(c

(d) Australopithecus
al use of phylogene
analysis 18 to discover evolu

relationships among
(St

(vi) The tradition

species.

(vii) A species ° inhabitin
geographical areas is known as
(a) Allopatric species

(b) Sympa.tric species

(c) sibling species

(d) Riospecies

the following :

2. Answer
& coacervates ?

(i) what ar

3 {Sem~6/CBCS) 700IHCR IGHNS

tic

tionary

ate True o False)

g different

9x4=8
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(i) The following datg shows four amino

acids found ACross three Species :

Amino aciq S€quence

Ile—Cys~Trp—Ser

Monkey Ile—CstI‘rp—Ser.

Met—Cys—Trp—-Arg Y
Which Phylogenetic tree best I'epresents
the information in the chart ?

(@) Monkey Frog Dog

(b) Dog Monkey Frog
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3.,

Onkey
Frog Dog it
(€)1
Monkey
Frog IR
(d)
gene flow ?

i) What 18 | by
s Concept of kin selectio
(iv) Co

. sno s 5%x3=15
three of the following
it mains
iy f “Three DO
to :
in the concep . 5
: g an evolutionary m
2 2 S
of Life” a
phylogeny-

inism.
eo-Darw
ite short note on I text
. er 5 he con

it) : abionin t
( daptive radiation
: S a

Dlscus
(i)

S.
f Darwin’s finche
O

Contd.

5
c2/G
(gem-6/CBCS) 200 H

3 (Pem=




(iv) Wha
tare i
the unique hominin characters |

(v)

(a) |

(b)

(a)

(b)

whi :
Hh1ch differentiate it from the primates 5 |
ow does ; ; y “d
Weinberg fem.??lc drift affect the Hardy-
of 1000b ifg?ll?num ? In a population |
genotype Axlduals 360 belo;i to
remaining 160’ 480 to Aa and gthe |
frequency of al to aa. What will b
lele A in the popula ; th:
ation °

Or 2+8=10

Describe S
tanley Miller’ |
o iler’s experi
B0 ; iCilllow does it Pp?gf; t ?ﬁg
il theory of origin of life. 10

Discuss
Hard :
equilibrium citi y-Weinber
that u m citing the evoluti B e, of
pset the law. onary forces
10

Or

What is
s fossi :
fo'ssiliZatiODSﬂ D Describe the proce
determin o Enumerate the meth ss of
ation of the age of a fi Rgeiion
: ossil.
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o.

e mass extinction

(a) What are the major fiv
in the history of

(b)

3(Se

events that occurred
them with special

Earth ? Discuss
sis on its causes and effects.
' 5+5=10

Or :
concept of phylogenetic tree.
the different methods of
genetic analysis ? State

Give the
What are
molecular phylo
the significance 9
evolutionary biology-
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